Woodside Australian
Science Project
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1. The diagram below shows an outcrop of conglomerate dipping at 30 degrees.

The conglomerate is bounded by shale to the NW and sandstone to the SE.
Scale is 1cm = 1 metre
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a) In what direction is the dip of the conglomerate? SE
b) What is the direction of strike? NE

c) With the help of a diagram work out the true thickness of the conglomerate.

Outcrop 1m 1cm =1m

—_—————— — Land Surface
~__"Shale -~ — ~. ..  Sandstone” . ."

Conglomerte

True thickness =
1/2 metre (50cms)

2. The next page shows an incomplete geological map.
a) Complete the boundaries and outcrops of the rock strata.

b) What is the dip of the strata? None = horizontal bedding

c) What is the thickness of
(i) the limestone? 100m

(i) the sandstone? 150m
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d) Using the map on the previous page draw a cross section from Xto V.

Metres

ASL

600m — —

400m — —

200m —{ - . W 5 5 3 |
000909000909 009000909009090909000909000009 0> ___  __—00090090000909 00 0V o—_|
o o o o o o o o o o 0 o 0O o o o0 o 0 o 0o o0 O 0O o o o o o0 o o o o o o o

om 0000900900900 009009009002900902020902020929092090909090900900909000090090900009090900%0

e) (i) If a vertical borehole were drilled at A, at what depth would the sandstone be first intersected? 300mASL

(i) If a vertical borehole were drilled at B, at what depth would the conglomerate be first intersected? 150mASL




